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CULTURE TEST – A (0.5 points per answer, 10 points maximum)

Mark the letter corresponding to the correct answer for each question with a cross (()  on the amber-coloured scoresheet (skórovací list). The number of the question should be the same as the number of the line on the scoresheet. No other way of marking the answers will be accepted. Only ONE ANSWER IS CORRECT.

    Example (A is the correct answer):

2. Which of the following was NOT an American poet?

(A) Dylan Thomas, (B) Robert Frost, (C) Henry Wadsworth Longfellow, (D) Gregory Corso
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___________________________________________________________________________

1. John Milton was the author of
      (A) This Side of Paradise,  (B) Paradise Lost,  (C) Paradise News,  (D) Sweet Bird of Paradise
2. Which of the following playwrights is correctly matched with a couple of characters from his work? 

(A) Edward Albee - Blanche and Stanley, 

(B) Tennessee Williams - Antony and Cleopatra

(C) William Shakespeare – George and Martha, 

(D) Samuel Beckett - Vladimir and Estragon

3. Which of the following authors did NOT write and publish during the 1930´s:

      (A) Nathanael West,  (B) William Styron,  (C) John Steinbeck, 
(D) Erskine Caldwell

4. Which of the following American writers is still alive:
(A) Joseph Heller,  (B) Arthur Miller,  (C) Saul Bellow,  (D) John Updike

5. Which of the following writers is correctly matched with his work?

(A) Geoffrey Chaucer – Canterbury Tales,    (B) Ben Jonson – All´s Well That Ends Well, 

(C) John Donne – The Rape of Lucrece, 
      (D) William Shakespeare – Volpone, or the Fox

6. THE NORMAN CONQUEST is a term for:

 (A) the raids of the Vikings (Norsemen) in Ireland at the end of the first and the beginning of the second millenium.


 (B) the Danish (Viking) raids in the northeastern England in the eight and ninth centuries, which led to the establishment of the so-called Danelaw.


 (C) the invasion of William the Conqueror, Duke of Normandy, in 1066, which led to the downfall of Anglo-Saxon culture and the establishment of French as the official language.

      (D) the invasion of Normandy by Allied Forces, which took place in 1944.

7. Identify IRONY

(A)  an honest imposter 

(B) the wind whispered to her 

(C) the ship ploughed the waves 
(D) he is all ears
8. Which of the following novelists is correctly matched with a couple of his characters:

(A) Henry Fielding – Crusoe and Friday, 
         (B) Jane Austen – Elizabeth and Darcy, 

(C) George Eliot – Tom Jones and Sophie Western,    (D) John Fowles –  Adam Bede and Eppie

9. Which of the following poets DID NOT write during the period of the Renaissance:

(A) Sir Philip Sidney,  (B) Edmund Spenser,  (C) John Keats,  (D) William Shakespeare

10. Which of the following novels was NOT written by William Faulkner

      (A) The Sound and the Fury,  (B) As I Lay Dying,  (C) All the King´s Men,  (D) Sanctuary
11. CITY LIGHTS BOOKS is

 (A) a trademark of a series of novels published in New York by Simon and Schuster.


 (B) a name of a bookstore in San Francisco, which was the centre of the Beatniks.


 (C) a term for detective novels of the hard-boiled school.

      (D) a sub-title of the utopian novel A Traveller from Altruria by W.D. Howells.

12. Which of the following statements is INCORRECT?

(A) Irish literature has been written in Gaelic, Latin and English.

(B) New Zealand authors include Maori writing in their own language.

(C) Victorian literature is known for its openness in dealing with sexual problems. 

      (D) In the modern times, Welsh continues to be an important literary language in Wales.

13. Where does Ulysses take place?

      (A) Edinburgh,  (B) London,  (C) Trieste,  (D) Dublin

14. Ralph Waldo Emerson was
      (A) an eighteenth-century Irish playwright and critic.

(B) a nineteenth-century Scottish novelist.

(C) an eighteenth-century English poet.

(D)a nineteenth-century American essayist and poet.

15. The Godfather was directed by

      (A) Martin Scorsese,  (B) Francis Ford Coppola,  (C) Charles Altieri,  (D) Robert DeNiro

16. Which statement is NOT correct? William Makepeace Thackeray 

     (A) was a contemporary of Charles Dickens.

     (B) satirized English society.

     (C) was deeply influenced by Henry James.

     (D) was the author of Vanity Fair.

17. Which of the following poets was Irish?
     (A) Alfred Lord Tennyson,  (B) Percy Bysshe Shelley,  (C) W. B. Yeats,  (D) Matthew Arnold

18. Which of the following writers won a Nobel Prize?
     (A) Samuel Beckett,  (B) James Joyce,  (C) William Wordsworth,  (D) John Updike.

19. The film The Matrix is based, in part, on the work of which American novelist?

     (A) Arthur C. Clarke,  (B) William Gibson,  (C) John Updike,  (D) Ray Bradbury

20. HARLEM RENAISSANCE is represented by:

     (A) Carl Sandburg,  (B) Ezra Pound,  (C) Malcolm X,  (D) Langston Hughes.

READING COMPREHENSION – A   





      (10 bodů)

Mark the letter corresponding to the correct answer for each question with a cross (()  on the amber-coloured scoresheet (skórovací list). The number of the question should be the same as the number of the line on the scoresheet. No other way of marking the answers will be accepted. Only ONE ANSWER IS CORRECT.

    Example (A is the correct answer):

2. Which of the following is NOT claimed in the article?

 (A) the theory is wrong (B) the theory is attractive (C) the theory is sound (D) the theory is correct
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_________________________________________________________________________________
(Line)
Ann Senghas of  Columbia University studied three generations of deaf schoolchildren from the Nicaraguan capital, Managua. Pupils from the deaf schools gradually developed their own form of hand-based communication. Senghas showed them a video and asked them to describe the event using sign language. Older students used hand signals resembling the 
(5)        gestures employed by hearing people, mimicking the entire event physically. But younger pupils - who had interacted with other deaf children from an early age - used a more complex series of signs. Their constructions resemble the way words and sentences are built in verbal languages, using segments structured in a linear fashion. Apparently the way they learnt the sign language helped reshape it according to these linguistic rules. All languages exhibit 

(10)      similar structural features, perhaps indicating that humans have a biological predisposition to communicate in this way. The study may  provide unique insight into language evolution, says Karen Emmorey from the Salk Institute. "It tells us about the way language emerges. What is more, there's just no way to get at this data for spoken languages as you can't go back in time." Pre-adolescent children typically possess better linguistic learning abilities than 
(15)      adults, making it easier for them to learn a new language. But this ability normally disappears around adolescence and why this should happen remains unclear. This could have had an evolutionary advantage, helping to reinforce linguistic bonds by making it more difficult for those who grew up outside of a social group to learn its language.

21. This passage is in principle concerned with:

(A) how deaf children learn the sign language

(B) the study of deaf children

(C) the role of signs in communication

(D) language structure and origin

22. The word ‛physically’ in line 5 means: 

(A) materially

(B) vividly

(C) bodily

(D) forcefully

23. The word ‛emerges’ in line 12 does NOT mean:

(A) begin 

(B) develop

     (C) behave

(D) evolve

24. What does the ‘evolutionary advantage’ for pre-adolescents mentioned in line 17 consist in?

(A) their learning a language early in a social group

(B) their growing outside of a social group

(C) strengthening their links to a social group

(D) their having better linguistic learning abilities

25. How did the younger Nicaraguan pupils use their hand signals?

(A) they combined them like words

(B) they used them in a simplified manner

(C) they used them for physical imitation 

(D) they used them like hearing people

26. Which of the following is NOT claimed by the authors in the passage:

(A) non-verbal languages resemble verbal ones

(B) adolescents lose their linguistic ability

(C) linguistic learning abilities vary with age 

(D) social relations and linguistic bonds are interrelated 

27. Which can best replace ‘in a linear fashion’ in line 8: 

(A) symmetrically  

(B)  sequentially 

(C) serially

(D) systematically 

28. The word ‛reinforce’ in line 17 is closest in meaning to: 

(A) strengthen

(B) express
(C) expose

(D) distinguish

29. What is NOT true of pre-adolescent children:

(A) as language learners, they surpass adults

(B) in time, their linguistic learning abilities deteriorate

(C) they show linguists how language develops 

(D) they are predisposed to mimicking hand signs 

30. Where does the passage describe the interaction between sign languages and verbal languages? 

(A) Lines 4-6

(B) Lines 7-9

(C) Lines 12-14

     (D) Lines 16-18

Test No: AA                                                                    
                             A                                                                                                                                                   
Gap filling exercise

(10 points) Complete the passage by replacing each number in brackets by one word only. Write your answers according to the numbers in the table provided below the text.

Travelling alone is less intimidating (1) it sounds. Budget travellers have a well-worn circuit: favourite bars and restaurants, hotels they use, places they (2), and you’ll always (3) a crowd you can travel (4) for part of your journey. Tapping into this network (5) you with company and you (6) from their travel experiences. If you’re going with a (7), make (8) it’s the right one. This may (9) obvious, but you should have (10) ideas on where and how you want to travel and have the same (11) of money to spend.

A sturdy rucksack with a combination padlock is the safest way to carry your belongings. (12) buying a big one because you (13) to carry it around for a year. Rucksacks (14) zip around the front like a suitcase are best; the straps won’t get (15) in luggage carousels at airports. It’s handy, too, if you get one with a detachable day bag. Some of the items we take for (16) are expensive or difficult to find on the road. For (17), pack a first (18) kit with all essential medical supplies. Some things, however, are much cheaper and easily available abroad so there’s no (19) to load yourself down with cotton tops, insect repellent or suntan (20).
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CRITICAL WRITING

VERSION A:
CHOOSE ONE OF THE FOLLOWING:

1.

"A person may be proud without being vain. Pride relates more to our opinion of ourselves, vanity to what we would have others think of us."

In the space of a minimum of 40 lines discuss this idea in relation to one English language novel or play of your choice. 

OR

2.

YOUTH AND AGE

Much did I rage when young,

Being by the world oppressed,

But now with flattering tongue

It speeds the parting guest.
In the space of a minimum of 15 lines explain the theme of the poem and discuss the theme with specific reference to the work of one English or American poet you have read.

DO NOT WRITE BELOW THIS POINT

	                  LANGUAGE

              marks out of five (5)


	                   CONTENT

             marks out of five (5)
	                        TOTAL

              marks out of ten (10)


LINGVISTICKÝ TEST - A          



1.  Nahraďte podtržené modální příslovce modálním (způsobovým) slovesem tak, aby byl 

zachován stejný význam. Celou větu přepište (1 bod):

Perhaps this episode has taught him a lesson. 

2.  Převeďte do nepřímé řeči (1,5 bodu):

I shall tell you quite frankly if I think that you have wasted my time. 

He said to her that .......................
3.  Následující větě lze rozumět dvěma způsoby. Dvojím překladem nebo výkladem ukažte, 

v čem významový rozdíl spočívá (1 bod): 

She found the money she had hidden in the vase.

4.  Převeďte do záporu dvojím způsobem. Uveďte celé věty (1 bod):

I have already met some of my fellow workers. 

5. Spojte následující věty přípustkovou spojkou tak, aby vzniklé souvětí vyjadřovalo stejný 

význam. Celé souvětí napište (0,5 bodu):

The matter was urgent; in spite of that, no immediate steps were taken.

6. Určete slovní druh podtržených slov (1,5 bodu):

The back wheel of the bicycle was damaged.   ........................................

I don´t like sitting in the back when going by car.   ...............................

Labour’s leaders will back the bill. .........................................................
7. Doplňte jednoslovné předložky, kde je třeba (1,5 bodu):
Our kittens like lying ...... the sun.

John cannot play ...... the piano.

We met Sandra ...... our way to the market.

It’s nice ...... you to help us.

They put the blame ...... the bad weather.

The boat had been smashed ...... pieces on the rocks.
8. Utvořte pomocí přípony nebo předpony (a) slovesa ze slov large a stiff; (b) příslovce ze 

slov problematic a back. (2 body)
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Hodnocení: 10 bodů celkem
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